PR NER &

1. THEA4
T4 HF6 — TR TAS ) RAATH K S B IR AR 4 T
T4, B R T R RA AT 75 e B S o
2. THEANR
1)  HBEAT4L LT [ T TR
2) ¥ T fE W) T
3) L £ 365 H fH H SF T4 48 1A
ES) SN 84 3H31H
4)  TEHE
W+ T 1 £y e T 1 %
EEHET 1 = (R T 1 =
YA T 1 2y
o T 1 2y
B T 1 2y

-1 - Etrzme  HE R




)

B N ERE

THE4 | A6 — THE  HBE)IRFTHIXERDRACE R TE

THXSy « TfE - FER A B & & B # ] ) 7
LiE - =X 1 72,077, 439
LT = 1 7,110, 402
PEHI T Y 1 1,662,359 |#EHI 570 m3
Twb A7 iy b PRI EEEME 5, 000m3A |
el 1, 300 m3
T N
AT Y 1 409, 069 | &R (FL18) %+ 50 m3
2. SmA ;
PR (ZL) ik - 150 m3
2. 5mPL F4. OmART ;
PR (ZL) ik - 80 m3
4. mPL F
B T Y 1 1,708, 746 |YEMEIEE (U)Li) 1, 000 m2
BRGSO L)
LT (8) 1356) 630 m2
BUGHIF M b /N
TR R (% 30 240 m2
EEAE DA BGHKIE ;
TR R (% 30 10 m2
HREAEE D & SUEHNE
e T = 1 3,330,228 | E&Hh 1 =
=AM ToH
b 1 =K
Trb FiEEEEEEL=6. OkmEL T ;
b 1 =K
T B R REL=14. OkmlL T ;
b 1 =K
AN D B ERREEREL=0. 2knlL T
b 1 =K
AN D B ERREEREL=1. OkmPL T ;
A (b=27) 1 =K
b 1550, 000m3 A

-1 - Etrzme  HE 5 R




)

B N ERE

THE4 | A6 — THE  HBE)IRFTHIXERDRACE R TE

TSy - TR - A W fr % R & . .

R T = 1 29, 115, 444

LT 2V 1 862, 527 |FHEY 1
L4

HE L 1
ARHERALL |

HE L 1
I R RIE ImPL EAmART# ;

HE L 1
R RN ImA i

FEmEE 1

o

2t

2t

2t

H,

/) =477 ey T (av) ) =47 ny ) k) = 1 1, 336, 878 | BLIGFTHAEaV ) -} 29
(1-1%)
18N/mm22A | JEfE43cm 5 S 25cm ;

/) =h ([E%0) 77 ny ) 8 41 m2
(1%)
£ % 350mm {FEIT7

JIA - BEARY (Fef) 6 m3
AR RC-40 ;

BT R mav )b 2 m3
(1-1%)
18N/mm22A F ;

=

/) =47 wy ) T ([E7 vy 5R) = 1 17, 746, 965 | BLIGFTHLAEa )Y -} 32 m
(2-1%)
18N/mm22A | JEfE50cm 5 Z40cm ;

BT At ) ) - b 21 m
(2-2%)
18N/mm22A | JEfE50cm 5 Z40cm ;

BT At ) ) - b 27 m
(2-3%)
18N/mm22A I JEfE50cm 5 Z40cm ;

BT HepfE ) - b 28 m
(2-4%)
18N/mm2 P4 [ JEfE50cm 5 S40cm ;

-2 - Etrzme  HE 5 R




HNERE

THE4 | A6 — THE  HBE)IRFTHIXERDRACE R TE

T4y - T - flR] HOAL &

&
‘\?é].[

LiESIVARDYE]

£ 2 .350mm V| EIAAT
TE 7K =

WA Y—PA (1. 0+10. Omm)
PRV R

(2-17%5)

18N/mm284 F t=350mm W=100mm ;
Kugay))—p

(2-27%5)

18N/mm2LA F W=400mm (_-1g) ;
Kigayy)—p

(2-37%5)

18N/mm2LA F W=194mm (_-1g) ;
Kigayy)—p

(2-475)

18N/mm2LA F W=400mm (_-1g) ;
NESPZA R

18N/mm284 F t=200mn ;

753

596

32

21

27

28

27

m2

m2

m2

) -biR LT = 1

7,208, 698

Bl TRty ) -}

(3-1%)

18N/mm2L4 F JE#E50cm & X 40cm ;
a7 -}

18N/mm284 F t=350mn ;
Tl e

— M
{EAERI A

JEASmm AELEA 27)-MT B L&E T ;
TE 7K =

WEAKY—=PA (JE 1. 0+10. Omm) ;
B HhR

VBT WHEE B AR t=10mm ;

11

370

110

260

332

m2

m2

m2

m2

MRS T 2V 1

532, 690

/NAE
127/~ k)
18N/mm22Ak F ;

-3 - Etrzme  HE 5 R




B N ERE

THE4 | A6 — THE  HBE)IRFTHIXERDRACE R TE

THEXSy - THE - Fl5 A B & & B # ] ) 7
/A 1 & T
(1-35/hmik)
18N/mm2p4 | ;
/A 1 & T
@-15/hmik)
18N/mm22A F ;
A~k 1 AT
(2-275/hA1E)
18N/mm22A F ;
R T 2V 1 972,826 |IEE 250 m2
HEZ T 100m2LL_E300m2A5H ;
LAy 330 m2
[
BET =X 1 454,860 7B (HEAT) 180 m3
Pkt gy T 2V 1 7,873, 384
LT 2V 1 86, 058 | K& IE 1 =K
pRay ) - T Y 1 422,766 | Figas7) -} 106 m2
18N/mm28A b t=10cm BhEiass)-} ;
Tl 7 m2
Bh&avy)-}
Ny=rT = 1 7,364, 560 |74Vi—FF 790 m3
BRI EEREAT (475)
W H LB Lky—=h 1, 100 m2
t=10mm ;
T (B RS 59 m2
H=800 ;
% T Y 1 2, 145, 960
PR T = 1 2,064, 300 |FEE: T 1 fa i
(1-2%5)
18N/mm22Ak F ;

-4 - Etrzme  HE 5 R




B N ERE

THE4 | A6 — THE  HBE)IRFTHIXERDRACE R TE

THXSy « TfE - FER A B & & B # a1l ) 7 _
P T 1 & T
(1-3%5)
18N/mm2p4 | ;
P T 1 & T
(2-17%5)
18N/mm22A F ;
P T 1 & T
(2-27%5)
18N/mm22A F ;
P T 1 & T
(2-37%5)
18N/mm22A F ;
IRAEEHEL B PR T 2V 1 81, 660 | KN FHACE R7E 10 m
18N/mm22L | FEP ¢ 50X 25 ;
418 1 T Y 1 18,931,517
5 At T 2V 1 61,936 |HA¥E (RHEIKT) B (-4 4 m
M 1. 1m avy)=bEEA Ay d
270l L 4 fL
HIIFLAE100mm 2L _F110mmAT  HIFLIE X 200mmLL 1
400mmLL T
LT 2V 1 648,032 |FHEY 1 =K
L4
KR 1 =
THb N
HWREL 1 =
I KR RMR ImAS
HWREL 1 =
B
FEmEEE 1 2V
AL VE(R T Y 1 155,211 | REEIEIE 1, 330 m2
MEMEL ;
TAT 7 %S T =Y 1 10, 160, 398 | T & A (HE - BEE ) 1, 330 m2
A Tyv47Y RC-40 4 E Y B 200mm ;

-5 - Etrzme  HE 5 R




)

B N ERE

THE4 | A6 — THE  HBE)IRFTHIXERDRACE R TE

T4y - T - flR] HOAL &

&
‘\?é].[

il il 2! B

T B (BREE) 50 m2
BHAITyv47Y RC-30 A Y & 100mm ;

vy - A 1, 329 m2
18N/mm284 F t=200mm W=2. Om ;

H ik 1 =
BT WHEE B AR t=10mm ;

=)@ (HIE - B ) 50 m2
PRI E T A2y (13) AF%E/E 40mm 1. AmRi 7
F4ha—}PK-3 ;

=)@ (HIE - B ) 1, 490 m2
FRAERRIET A2y (13) #%EE 30mm 1. 4mPL E3.0
mPL R #y/a-tPK-4 ;

Fagav)) - L = 1 130, 336 | EAEav ) -} 16 m2
18N/mm22A | t=20cm W=2. Om ;

A 16 m2
HAIT7yv477 RC-40 1 F v JE200mn ;

ST T HERE 1. 2V 1 7,775,604 | &f%Ekav))-h 6 m
25)
18N/mm284 | W150 X H140 ;

A () -} 877 m
(35)
18N/mm284 | W150 X H430 ;

i Favg) =) 0.1 m3
18N/mm22A F ;

iy 12 A
SD345 D13 L=200mnm ;

270l L 12 1L
HIFLAE 10mmLL b 30mmAy HIl L3 0mm LA _E200mm
W

o

HiEYME T 3, 686, 808

o

E ZillE [ CANN 3,406 | B (R - B By L A 4= 5 m

) -MEA M

-6 - Etrzme  HE 5 R




THE4 | A6 — THE  HBE)IRFTHIXERDRACE R TE

LHFXSy - LfE - fljl Bz B & & B # il ) B
S EUE L T Y 1 2,465, 023 |27 -MEYEWEE L 307 m3
AR IEY) BEhOE L
EEERR G 51 m
TAT7VMEEERR 15emPL T
ElEERR I e 50 m2
TATVMERZENR SEERRE 15emEL T
TR ALER T = 1 1,218,379 |EHM 307 m3
avy) bk BERY) B S EEREL=1. 6kmlL T ;
i 1 4 2 m3
TAT7 VR Pl R EEEEL=1. SkmPL T ;
LSy 307 m3
)Y - bk )
LSy 2 m3
TAT7 VAR
R T Y 1 3,213,924
THEHERT Y 1 1,928,102 | L& HEHt 1 =
THEHBERE L RE 1 =
jgidl 1 =
WA t=10cm ;
Wb R E 1 =
b 1 =
T BN R REL=0. BkmEA T
b 1 =
T B R REL=1. OkmEA T
b 1 =
T B R REL=14. OkmlL T ;
HE A 1 =
= ANn#ToH
HE A 1 =
HIFL (v-27)
A (b=27) 1 =K

+#> +550, 000m3K ;

Etrzme  HE 5 R




B A N R
TEHEAL | 56 — THE  ERERATHIX R RS R T
THEXS - T - FER Bz ¥ = & Hm a1l N 3
VRS~ dfis T X 1 1,023,622 | ikt ! A
PR = 1 2V
+o 1 2V
(KREI+mH)
TR R
+o 1 2V
(KREI+mH)
iz
KRR E 1 2V
(B - )
EREER VS ¢ 800 V)T ViR
BB T = 1 262, 200 | AZiEFEEEE B 1 2V
(B)
=N >
RS 2V 1 72,077, 439
Il R Y 1 6, 570, 000
o Y 1 747, 000
Bl RIEUER (FE L) Y 1 747, 000
mEER®E (EE L) Y 1 5, 823, 000
il T Y 1 78, 647, 439
Bl H e 2V 1 22, 139, 000
T =5 Y 1 100, 786, 439
— R B 2V 1 17, 253, 561
T A0 =Y 1 118, 040, 000
-8 - Etzma  WE TR




